


ENGLISH DEPARTMENT
SEVENTH GRADES

LICEO BICENTENARIO OSCAR CASTRO ZUNIGA

Period 2 remedial test. -

NOMBRE CURSO Score: 33 pts
FECHA Score togeta
0.A. Identificar vocabulario Contenido: 4.0 (60%) = 19
relacionado a comida, clasificando points
sustantivo contables y no contables y - Vocabulario relacionado a comida-
formando oraciones con la forma - Clasificacién de sustantivos contables Y
verbal “there is — there are” en forma no contables.
afirmativa. - Uso de formas verbales afirmativas
“there is” — “there are”
- Uso de cuantificadores some, any, a-an
INSTRUCTIONS:
- You have approximately 20 - 30 minutes to do this activity.
-Complete the interactive activities presented in this worksheet.
- You can use a dictionary or ask your teacher for vocabulary you don’t know.
L Decide if the following nouns are COUNTABLE or UNCOUNTABLE. (12 POINTS)
1. Salt
2. Melons
3. Students
4, 0il
5. Apple pie
6. Oxygen
7. Love

8. Blueberries

9. Milk

10. Intelligence

11. Tomatoes

12. Sandwich

5 i A







. Look at the picture and complete the following sentences using THERE IS or THERE ARE.

1. bread.
2. a pear.
3 cheese.
4. 5 plates.
5. astrawberry cake.
6. grapes.
7. lemonade.
. Choose the correct alternative for each of the situations below:

1. The correct negative form for “there are 5 bicycles in the garden” is:
a. There not are 5 bicycles in the garden.
b. There aren’t 5 bicycles in the garden.
c. There are no 5 bicycles in the garden.

2. The correct interrogative form of “there is water in the bottle” is:
a. There is water in the bottle?
b. There water is in the bottle?
c. Isthere water in the bottle?

3. The correct negative form for “there is an elephant in the zoo” is:
a. No there is an elephant in the zoo.
b. Thereis no an elephant in the zoo.
c. Thereis not an elephant in the zoo.

4. "Is there sugar in the bow!?” The correct answer to this question is:
a. Yes, thereis.
b. Yes, sugarin the bowl.
c. Yes, |do.

5. The correct negative form for “there is a beautiful plant in the garden” is:
a. There is not a beautiful plant in the garden.
b. There is no a beautiful plant in the garden.
¢. Isthere a beautiful plant in the garden?

6. “Are the two apples on the table?” The correct answer to this questions is:
Yes, there is

Yes, | am

Yes, there are

No, there isn't

apow

Iv. Complete using the right option, SOME, ANY, A/AN (8 pts)

1. Ihave new shoes in the closet.

2. Isthere good mabile phone in this shop?

3. Thereis orange on the table.

4. Mom, do you have pencils in the pencil case?
5. Valentina doesn’t have books to read.

6. |have got computer at home.

7. They want to eat salads for lunch.

8. Are there apples to cook the pie?



